
EOC Review Problems Review #1 Name _______________________ Period _____ 

1.  Based on the following figure, determine which values below are correct.      

 Circle TWO that apply.  SHOW YOUR WORK 

x = 4      x = 6 

x = 9 x = 12 

𝑚∠ 𝐴𝐶𝐵 =  510     

     𝑚∠ 𝐴𝐶𝐵 =  630  

𝑚∠ 𝐴𝐶𝐵 =  810  

2.  What is the inverse of the statement below? 

  If three points lie on a line then they are collinear. 

 A.  If three points are collinear then they lie on a line.                               

 B.  If three points do not lie on a line then they are collinear.         

 C.  If three points are not collinear, then they do not lie on a line.        

 D.  If three points do not lie on a line then they are not collinear. 

3.  This diagram represents what kind of construction? 

 A. parallel lines            

 B. perpendicular lines           

 C. congruent segments              

 D. parallel segments 

4.  Esteban drew JKL on a coordinate grid.  Then he drew J’K’L’ the result of a 900 clockwise 

 rotation about the origin.  How are JKL and J’K’L’ related? 

 A.  They are similar but not congruent.         

 B.  They are both similar and congruent.         

 C.  They are neither similar nor congruent.         

 D.  They are congruent but not similar. 

5.  Use the figure to answer the follow question. 

 If  𝐴𝐶̅̅ ̅̅  ∥  𝐷𝐸̅̅ ̅̅ , which of the following justifies  ABC ~  DBE ? 

 A.  Definition of Similar Triangles          

 B.  





11.  Rectangle PQRS is shown below.  Point C is the center of the rectangle. 

 Maggie claims that there are transformations that preserve the length of the rectangle’s sides.  

 Which of the following transformations could be used to support Maggie’s claim? Select ALL that 

 apply.  

 A reflection over the side RS 

 A rotation of 900 clockwise about vertex Q 

 A dilation of scale factor 1 through center C 

 A vertical stretch of scale factor 2 through center C 

 A translation of 10 units to the right 

12.  In the diagram below, points P, Q, and R lie on the same line.   

 Which conjecture must be true? 

 A. 𝑚∠𝑅𝑄𝑆 + 𝑚∠𝑆𝑄𝑇 = 𝑚∠𝑃𝑄𝑇 

 B.  𝑄𝑆̅̅̅̅  𝑏𝑖𝑠𝑒𝑐𝑡𝑠 ∠𝑇𝑄𝑅 

 C.  𝑃𝑄 + 𝑄𝑅 = 𝑃𝑅 

 D.  𝑃𝑄 = 𝑄𝑅 

13.  Find the distance labeled x in the diagram. 

 SHOW YOUR WORK 

 20.8 ft 

 32.5 ft 

 35.0 ft 

 42.5 ft 

 

14. Rectangles 1 and 2 are shown.  Sara claims that a sequence of transformations carries Rectangle 1 onto 

 Rectangle 2.  Which of the following transformations can be used to support Sara’s claim?  Select ALL 

 that apply.  

 A rotation of 1800 counterclockwise        

 about the origin 

 A reflection over the y-axis, followed by         a 

reflection over the x-axis 

 A translation of 7 units to the left, followed       

 by a translation of 8 units up 

 A reflection over the x-axis, followed by a       

 translation of 4 units to the right 

 A reflection over the line y = -x, followed by       

 a reflection over the line y = x 

 A rotation of 2700 clockwise about the origin,       

 followed by a reflection over the y-axis 

 

15. A right triangle,  DEF is shown.    

 What is 𝒕𝒂𝒏∠ 𝑭𝑫𝑬 =  _________ 

 

 

 

 

 

 

 


